NTERADHB(HEBERFH

54—-6A—2:A— A& A =]
K4
1) ROMEZZEHTLAIL, BEIBEHTRD. BV LZLESFIRYBHLESL,
(2 % 1088)
1) 1260+70 2) 633+5
3) 11084+652 4) 889+10
5) 2138+3 6) 5103567
7) 3618+60 8) 30474-+6

9) 867+205 10) 67448



NTERADHB(HEBERFH

5% —6H—2:8— X A =]
K4
2) ROFEZEHETLESL, BEIXBHTEKRD. BYGALZWNEAIEERYEBELESL,
(2 % 1088)
1) 7699 2) 4404734
3) 624428 4) 869+2
5) 10833+471 6) 79696 -+96
7) 1684+4 8) 93+40

9) 9432806 10) 4165+85



NTERADHB(HEBERFH

5% —6H—2:8—KEE A =]
K4
3) ROHEZEHETLESL, BEIEHTRD. BVTALZWNMESERYEHBLESL,
(2 x10%8)
1) 842051 2) 9600+384
3) 977 4) 6448-+=+143
5) 51968-+-928 6) 3472+31
7) 8174+5 8) 984492

9) 918+36 10) 876+105



NTERADHB(HEBERFH

5% —6H—2:8—KEE A =]
K4
4) ROFEZEHETLESL, BIXBHTKRD. BYGIALZWNEAIEERYEBELESL,
(2 x10%8)
1) 8592+716 2) 2736+6
3) 9548 4) 367353+357
5) 31408+2 6) 647761
7) 74817 8) 48613+282

9) 5805+45 10)  81435+89



NTERADHB(HEBERFH

54—6A—2:A—%E A =]
K4
5) ROFEZEHTLAESL, BEIZBHTKD. BYGNLZWNEAIEERYEHELESL,
(2 x10%8)
1) 812+4 2) 679+=97
3) 81504-+783 4) 8058+79
5) 5549-+7 6) 795+159
7) 98+8 8) 5992-+-428

9) 76048+49 10)  382281-+237



NTERADHB(HEBERFH

S&—-6A—24

1) ARE—m@E (2K X10%)

1) 18 2) 126%RY3
5) 712&Y2 6) 9
9) 4%RY47 10) 843

2) KiE—MRE (2R x10%#)
1) 85%Y4 2) 6
5 23 6) 830%Y16
9) 11&RYS66 10) 49
3) Kig—EE (2R x108)
1) 165%YS5 2) 25
5) 56 6) 112
9) 25%Y18 10) 85RY36

4) KE—RE (2Rx10#)

1) 12 2) 456
5) 15704 6) 106&Y11
9 129 10) 915

5) &E—ME (2R X108

1) 203 2) 7
5) 792%RY5 6) 5
9) 1552 10) 1613

A =
3) 17 4) 88%Y9
7) 60%Y18 8) 5079

A =

3) 223 4) 434%Y1

7) 421 8) 2%&Y13

A =
3) 13%Y6 4) 45%Y13
7) 1634%Y4 8) 107

A =

3) 119%Y2 4) 1029

7) 44 8) 172&Y109

A =

3) 104%&Y72 4) 102

7 128Y2 8) 14



